2. Tom needs to cut a 6-foot board (7: fto two pieces. The longer piece is to
be 12 inches less than three times the shorter piece. What is to be the length of
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Sentence: T[‘H@ S)’IOP'}‘*PA‘ Piece— IS 2] inches anect ‘H’)e.
lonj-er piece 15 51 inches L
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3. Uncle Harry has three nieces. In his will, he decides to give Janet $10,000 more
than he gives Nancy, and to give Cathy twice as much as he gives to Janet. If
Harry's will leaves™ i dthe three nieces, how much will each niece receive?
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Sentence: Nancj wnll reee] ve, % 15, 560.} Janet will receive $25,, 520,
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